Math 280 Practice Test 3
1.   Use the root test to see if 
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 converges or diverges.
2.   Determine if the following series converge or diverge.

      a. 
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3.   Considering your answer to 2c, what can be said about 
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4.   Find the radius of convergence and the interval of convergence for the following.
      a. 
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5.   Find the radius of convergence and the interval of convergence for the following.

      a. 
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6.   Find the Taylor series for the given function centered at the given value of a.

      a. 
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7.   Use what you found in number 6a to estimate 
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 correct to three decimal places.
8.   Use a Maclaurin series from Table 1 (page 762) to obtain the Maclaurin series for the following.
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9.    Use your results from 8b to evaluate 
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